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Q.1 Seven boxes A1, A2, A3, A4, A5, A6 and A7 are placed one above the other. Only two
boxes are placed above box A4. Only one box is placed between box A7 and A4. As
many as boxes are placed between box A7 and A5 as between box A5 and A1. Three
boxes are placed between box A2 and A3. A2 is placed above A3. How many boxes are
placed between A1 and A6?

Ans 1. 2

2. 4

3. 0

4. 1

Question ID : 630680372111
Option 1 ID : 6306801449744
Option 2 ID : 6306801449746
Option 3 ID : 6306801449743
Option 4 ID : 6306801449745

Status : Answered
Chosen Option : 4
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Q.2 In the following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true even if
they seem to be at variance from commonly known facts. Read all the conclusions and
then decide which of the given conclusion logically follows the given statements.

Statements:
I. Some W are K.
II. No J are W.

Conclusion:
I. Some J are W.
II. Some K are not J.

Ans 1. Only conclusion I follows

2. Both conclusions I and II follows

3. Neither conclusion follows

4. Only conclusion II follows

Question ID : 630680372112
Option 1 ID : 6306801449747
Option 2 ID : 6306801449749
Option 3 ID : 6306801449750
Option 4 ID : 6306801449748

Status : Answered
Chosen Option : 4

Q.3 In the following question, select the related letters from the given alternatives.
JW : LY :: KX : ?

Ans 1. MZ

2. CP

3. AN

4. BO

Question ID : 630680372119
Option 1 ID : 6306801449776
Option 2 ID : 6306801449778
Option 3 ID : 6306801449775
Option 4 ID : 6306801449777

Status : Answered
Chosen Option : 1

Q.4 What is the approximate value of 525.16 ÷ 74.879 × 7.98 + 225?
Ans 1. 281

2. 117

3. 441

4. 367

Question ID : 630680372129
Option 1 ID : 6306801449817
Option 2 ID : 6306801449815
Option 3 ID : 6306801449818
Option 4 ID : 6306801449816

Status : Answered
Chosen Option : 1

 
   
        



Q.5 If ‘J’ means ‘+’, ‘K’ means ‘–’, ‘L’ means ‘×’ and ‘M’ means ‘÷’, then
14 K 8 J 5 L 20 M 4 = ?

Ans 1. 33

2. 30

3. 31

4. 29

Question ID : 630680372130
Option 1 ID : 6306801449822
Option 2 ID : 6306801449820
Option 3 ID : 6306801449819
Option 4 ID : 6306801449821

Status : Answered
Chosen Option : 3

Q.6 In the following question, four letter pairs are given. The letters on left side of (–) is
related to the letters on the right side of (–) with some Logic/Rule/Relation. Three are
similar on basis of same Logic/Rule/Relation. Select the odd one out from the given
alternatives.

Ans 1. NT – RP

2. MS – QO

3. DJ – HF

4. KP – OM

Question ID : 630680372122
Option 1 ID : 6306801449790
Option 2 ID : 6306801449787
Option 3 ID : 6306801449788
Option 4 ID : 6306801449789

Status : Answered
Chosen Option : 4

Q.7 In a certain code language, ‘BIRTH’ is written as ‘ELUWK’. What is the code for
‘HELLO’ in that code language?

Ans 1. KHOOR

2. JHOOQ

3. KHNNR

4. KHOOQ

Question ID : 630680372118
Option 1 ID : 6306801449773
Option 2 ID : 6306801449774
Option 3 ID : 6306801449771
Option 4 ID : 6306801449772

Status : Answered
Chosen Option : 1

 
       



Q.8 In the following question, a group of letters is given. The letters of each group are
related with the letters of the same group by some Logic/Rule/Relation. From the given
alternatives, select a group of letters which follows the same Logic/Rule/Relation.
(RV, TX, VZ)

Ans 1. (DJ, FL, IN)

2. (BD, DF, FH)

3. (KL, MN, OL)

4. (MB, OD, QG)

Question ID : 630680372120
Option 1 ID : 6306801449782
Option 2 ID : 6306801449781
Option 3 ID : 6306801449780
Option 4 ID : 6306801449779

Status : Answered
Chosen Option : 2

Q.9 In a certain code language, ‘LIPS’ is written as ‘HELO’. What is the code for ‘GUNS’ in
that code language?

Ans 1. CQKP

2. CQJO

3. CQKO

4. CQJP

Question ID : 630680372124
Option 1 ID : 6306801449798
Option 2 ID : 6306801449795
Option 3 ID : 6306801449797
Option 4 ID : 6306801449796

Status : Answered
Chosen Option : 2

Q.10 In a certain code language, ‘REFORM’ is written as ‘TGHQTO’. What is the code for
‘SINGER’ in that code language?

Ans 1. UKPIGT

2. UKQIHT

3. UKPIGU

4. UKPIHT

Question ID : 630680372117
Option 1 ID : 6306801449768
Option 2 ID : 6306801449769
Option 3 ID : 6306801449770
Option 4 ID : 6306801449767

Status : Answered
Chosen Option : 1

 
  
         



Q.11 In the following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true even if
they seem to be at variance from commonly known facts. Read all the conclusions and
then decide which of the given conclusion logically follows the given statements.

Statements:
I. Some E are Q.
II. No A is Q.

Conclusion:
I. Some E are A.
II. No Q is A.
III. Some E are not A.

Ans 1. Only conclusion I follows

2. Only conclusion III follows

3. Both conclusions II and III follows

4. Neither conclusion follows

Question ID : 630680372113
Option 1 ID : 6306801449752
Option 2 ID : 6306801449753
Option 3 ID : 6306801449751
Option 4 ID : 6306801449754

Status : Answered
Chosen Option : 3

Q.12 In a certain code language, ‘EXCEPT’ is written as ‘FWDDQS’. What is the code for
‘GERMAN’ in that code language?

Ans 1. HDSLBM

2. HDSLCN

3. HDLSBN

4. HDSLZO

Question ID : 630680372125
Option 1 ID : 6306801449800
Option 2 ID : 6306801449801
Option 3 ID : 6306801449802
Option 4 ID : 6306801449799

Status : Answered
Chosen Option : 1

Q.13 If ‘#’ means ‘+’, ‘@’ means ‘–’, ‘Y’ means ‘×’ and ‘S’ means ‘÷’, then
15 Y 10 S 5 # 20 @ 25 = ?

Ans 1. 25

2. 30

3. 35

4. 20

Question ID : 630680372131
Option 1 ID : 6306801449826
Option 2 ID : 6306801449824
Option 3 ID : 6306801449823
Option 4 ID : 6306801449825

Status : Answered
Chosen Option : 1

 
   
        



Q.14 Six students P, Q, R, S, T and U are sitting around a circular table facing opposite to
the centre (not necessarily in the same order). R is second to the left of Q. S is not the
immediate neighbour of R or Q. T is fourth to the right of U. Who is second to the right
of P?

Ans 1. T

2. Q

3. S

4. R

Question ID : 630680372108
Option 1 ID : 6306801449731
Option 2 ID : 6306801449733
Option 3 ID : 6306801449732
Option 4 ID : 6306801449734

Status : Answered
Chosen Option : 1

Q.15 In a certain code language, ‘REPORT’ is written as ‘QDOMPR’. What is the code for
‘RETURN’ in that code language?

Ans 1. QDSSQN

2. QDSSQM

3. QDSTPM

4. QDSSPL

Question ID : 630680372123
Option 1 ID : 6306801449794
Option 2 ID : 6306801449792
Option 3 ID : 6306801449793
Option 4 ID : 6306801449791

Status : Answered
Chosen Option : 4

Q.16 In the following question, select the missing number from the given series.
100, 87, 108, 79, ?, 71

Ans 1. 110

2. 118

3. 120

4. 116

Question ID : 630680372126
Option 1 ID : 6306801449806
Option 2 ID : 6306801449804
Option 3 ID : 6306801449805
Option 4 ID : 6306801449803

Status : Answered
Chosen Option : 4

 
   
           



Q.17 Consider the five three digit numbers given below and the answer the questions based
on it.
(Left) 446 749 422 347 746 (Right)
What will be the square of the sum of unit digit of 4th number from left end and unit
digit of 5th number from the left end?

Ans 1. 81

2. 49

3. 121

4. 169

Question ID : 630680372116
Option 1 ID : 6306801449764
Option 2 ID : 6306801449765
Option 3 ID : 6306801449766
Option 4 ID : 6306801449763

Status : Answered
Chosen Option : 4

Q.18 What is the approximate value of [723.89 ÷ 24.98] + [107.16 – 15.98]?
Ans 1. 120

2. 44

3. 200

4. 364

Question ID : 630680372128
Option 1 ID : 6306801449813
Option 2 ID : 6306801449812
Option 3 ID : 6306801449814
Option 4 ID : 6306801449811

Status : Answered
Chosen Option : 1

Q.19 A series is given with one term missing. Select the correct alternative from the given
ones that will complete the series.
THDM, WBMA, ZVVO, CPEC, ?

Ans 1. RMNO

2. FJNQ

3. FMNO

4. FQRM

Question ID : 630680372115
Option 1 ID : 6306801449759
Option 2 ID : 6306801449760
Option 3 ID : 6306801449761
Option 4 ID : 6306801449762

Status : Answered
Chosen Option : 2

 

 

           



Q.20 Seven friends namely – C1, C2, C3, C4, C5, C6 and C7 are living in a building of seven
floors, lowermost floor is numbered 1, floor above it is numbered 2 and so on till the
top-most floor which is numbered 7. Each person lives on a single floor.C1 lives on a
floor numbered four. No one lives below C7. Number of persons who live between C6
and C1 are same as the number of persons who live between C1 and C5. C2 lives four
floor above C4. C6 lives above C4. Who can live in between C4 and C7?

Ans 1. C1

2. C6

3. C5

4. C3

Question ID : 630680372110
Option 1 ID : 6306801449741
Option 2 ID : 6306801449742
Option 3 ID : 6306801449739
Option 4 ID : 6306801449740

Status : Answered
Chosen Option : 1

Q.21 Seven girls P, Q, R, S, T, W and X are sitting in a row facing towards the north (not
necessarily in the same order). R is at one of the ends of the row. T sits exactly in the
middle of row. S is third to the left of X. Q is to the immediate left of W. Q is not at any
end of the row. Which of the following statement(s) is/are correct?
I. S is to the immediate right of R.
II. T is to the immediate right of X.

Ans 1. Only I

2. Neither I nor II

3. Both I and II

4. Only II

Question ID : 630680372109
Option 1 ID : 6306801449735
Option 2 ID : 6306801449738
Option 3 ID : 6306801449737
Option 4 ID : 6306801449736

Status : Answered
Chosen Option : 1

Q.22 A series is given with one term missing. Select the correct alternative from the given
ones that will complete the series.
MNR, OQN, QTJ, SWF, ?

Ans 1. UYB

2. UAB

3. UAH

4. UZB

Question ID : 630680372114
Option 1 ID : 6306801449756
Option 2 ID : 6306801449757
Option 3 ID : 6306801449758
Option 4 ID : 6306801449755

Status : Answered
Chosen Option : 4

 

 

   
           



Q.23 Select the option that is related to the fifth number cluster in the same way as the
second number cluster is related to the first number cluster and fourth number cluster
is related to third number cluster.
653 : 534 :: 989 : 870 :: 346 : ?

Ans 1. 256

2. 237

3. 227

4. 281

Question ID : 630680372132
Option 1 ID : 6306801449830
Option 2 ID : 6306801449828
Option 3 ID : 6306801449829
Option 4 ID : 6306801449827

Status : Answered
Chosen Option : 3

Q.24 In the following question, select the odd letter/letters from the given alternatives.
Ans 1. QU

2. AE

3. NR

4. MP

Question ID : 630680372121
Option 1 ID : 6306801449784
Option 2 ID : 6306801449785
Option 3 ID : 6306801449783
Option 4 ID : 6306801449786

Status : Answered
Chosen Option : 4

Q.25 In the following question, select the missing number from the given series.
1, 3, 8, 18, 35, ?

Ans 1. 68

2. 60

3. 61

4. 64

Question ID : 630680372127
Option 1 ID : 6306801449810
Option 2 ID : 6306801449807
Option 3 ID : 6306801449808
Option 4 ID : 6306801449809

Status : Answered
Chosen Option : 3

Section : General Awareness

 
         



Q.1 Who was the first Asian to be elected to the British Parliament?
Ans 1. Ishwarchandra Vidyasagar

2. Mahadev Govind Ranade

3. Dadabhai Naoroji

4. Motilal Nehru

Question ID : 630680372091
Option 1 ID : 6306801449666
Option 2 ID : 6306801449663
Option 3 ID : 6306801449665
Option 4 ID : 6306801449664

Status : Answered
Chosen Option : 3

Q.2 Sakshi Kumari was conferred with the Arjuna Award 2022 in which sports?
Ans 1. Kabaddi

2. Boxing

3. Athletics

4. Judo

Question ID : 630680372083
Option 1 ID : 6306801449634
Option 2 ID : 6306801449633
Option 3 ID : 6306801449631
Option 4 ID : 6306801449632

Status : Not Answered
Chosen Option : --

Q.3 Murali Sreeshankar won the bronze in _______ at the Paris Diamond League 2023
athletics.

Ans 1. long jump

2. javelin throw

3. discus throw

4. boxing

Question ID : 630680372084
Option 1 ID : 6306801449636
Option 2 ID : 6306801449637
Option 3 ID : 6306801449635
Option 4 ID : 6306801449638

Status : Answered
Chosen Option : 1

 
       



Q.4 Which among the following languages was added in the Eighth Schedule of the Indian
Constitution in 1967?
I. Konkani
II. Sindhi

Ans 1. Only I

2. Both I and II

3. Only II

4. Neither I nor II

Question ID : 630680372099
Option 1 ID : 6306801449695
Option 2 ID : 6306801449697
Option 3 ID : 6306801449696
Option 4 ID : 6306801449698

Status : Answered
Chosen Option : 2

Q.5 Which of the following dynasty was associated with “tripartite struggle”?
I. Pala
II. Chola
III. Gurjara-Pratihara

Ans 1. I and III

2. I and II

3. I, II and III

4. II and III

Question ID : 630680372095
Option 1 ID : 6306801449681
Option 2 ID : 6306801449679
Option 3 ID : 6306801449682
Option 4 ID : 6306801449680

Status : Answered
Chosen Option : 3

Q.6 Which of the following statements is correct regarding the Centrally Sponsored Pilot
Scheme on 'Fortification of Rice & its Distribution under Public Distribution System' in
India?
I. This scheme was approved for a period of 3 years beginning 2019-20.
II. This scheme was approved with total budget outlay of Rs. 17464 Cr.

Ans 1. Only II

2. Only I

3. Neither I nor II

4. Both I and II

Question ID : 630680372087
Option 1 ID : 6306801449648
Option 2 ID : 6306801449647
Option 3 ID : 6306801449650
Option 4 ID : 6306801449649

Status : Not Answered
Chosen Option : --

 
           



Q.7 Which of the following festivals is celebrated in Jharkhand?
I. Jawa
II. Rohini

Ans 1. Both I and II

2. Only I

3. Neither I nor II

4. Only II

Question ID : 630680372101
Option 1 ID : 6306801449705
Option 2 ID : 6306801449703
Option 3 ID : 6306801449706
Option 4 ID : 6306801449704

Status : Answered
Chosen Option : 2

Q.8 As per Census 2011, females constituted ______ of the total population of India.
Ans 1. 38.5 percent

2. 42.5 percent

3. 48.5 percent

4. 52.5 percent

Question ID : 630680372105
Option 1 ID : 6306801449719
Option 2 ID : 6306801449720
Option 3 ID : 6306801449721
Option 4 ID : 6306801449722

Status : Answered
Chosen Option : 2

Q.9 Who of the following was associated with the Young Bengal Movement?
Ans 1. Keshub Chunder Sen

2. Ishwarchandra Vidyasagar

3. Henry Derozio

4. Swami Vivekananda

Question ID : 630680372090
Option 1 ID : 6306801449659
Option 2 ID : 6306801449662
Option 3 ID : 6306801449660
Option 4 ID : 6306801449661

Status : Not Answered
Chosen Option : --

Q.10 Which vehicle is being designed and developed by The National Institute of Ocean
Technology (NIOT) to send three personnel for the exploration of deep sea resources?

Ans 1. Matsya 3000

2. Matsya 6000

3. Matsya 5000

4. Matsya 8000

Question ID : 630680372085
Option 1 ID : 6306801449639
Option 2 ID : 6306801449641
Option 3 ID : 6306801449640
Option 4 ID : 6306801449642

Status : Not Answered
Chosen Option : --

 
      

    



Q.11 Which of the following festival marks the Telugu New Year?
Ans 1. Ugadi

2. Vishu

3. Rongker

4. Losar

Question ID : 630680372100
Option 1 ID : 6306801449699
Option 2 ID : 6306801449701
Option 3 ID : 6306801449702
Option 4 ID : 6306801449700

Status : Answered
Chosen Option : 1

Q.12 Who among the following overthrew his Chalukya overlord and performed a ritual
called ‘hiranya-garbha’?

Ans 1. Indra III

2. Dantidurga

3. Amoghavarsha

4. Dhruva Dharavarsha

Question ID : 630680372094
Option 1 ID : 6306801449675
Option 2 ID : 6306801449678
Option 3 ID : 6306801449677
Option 4 ID : 6306801449676

Status : Answered
Chosen Option : 3

Q.13 Peninsular plateau is composed of which of the following rock type?
I. Igneous rocks
II. Metamorphic rocks

Ans 1. Neither I nor II

2. Both I and II

3. Only II

4. Only I

Question ID : 630680372103
Option 1 ID : 6306801449714
Option 2 ID : 6306801449713
Option 3 ID : 6306801449712
Option 4 ID : 6306801449711

Status : Answered
Chosen Option : 2

 
      



Q.14 Which of the following statement is correct?
I. The climate of India is described as monsoon type.
II. Most parts of India receive rainfall from September to March.

Ans 1. Neither I nor II

2. Only II

3. Both I and II

4. Only I

Question ID : 630680372104
Option 1 ID : 6306801449718
Option 2 ID : 6306801449716
Option 3 ID : 6306801449717
Option 4 ID : 6306801449715

Status : Answered
Chosen Option : 4

Q.15 Which among the following statements is correct regarding the Doctrine of Lapse?
I. The policy was devised by Lord Hastings.
II. The doctrine declared that if an Indian ruler died without a male heir his kingdom
would become part of Company Territory.

Ans 1. Only I

2. Neither I nor II

3. Only II

4. Both I and II

Question ID : 630680372092
Option 1 ID : 6306801449667
Option 2 ID : 6306801449670
Option 3 ID : 6306801449668
Option 4 ID : 6306801449669

Status : Answered
Chosen Option : 4

Q.16 What is the name of the autobiography written by General VK Singh?
Ans 1. Epitome of Success

2. Courage and Conviction

3. Practice to Perfection

4. Duty of a Soldier

Question ID : 630680372096
Option 1 ID : 6306801449686
Option 2 ID : 6306801449685
Option 3 ID : 6306801449684
Option 4 ID : 6306801449683

Status : Answered
Chosen Option : 4

 
 



Q.17 Higher indifference curve gives ______.
Ans 1. same level of utility

2. greater level of utility

3. zero utility

4. lower level of utility

Question ID : 630680372089
Option 1 ID : 6306801449657
Option 2 ID : 6306801449655
Option 3 ID : 6306801449658
Option 4 ID : 6306801449656

Status : Not Answered
Chosen Option : --

Q.18 Which of the following has been set up as the organisation to work on bringing the
school boards across the States and the Union Territories on a common platform?

Ans 1. PARAKH

2. PARAM

3. PALAN

4. PAHAL

Question ID : 630680372086
Option 1 ID : 6306801449645
Option 2 ID : 6306801449644
Option 3 ID : 6306801449646
Option 4 ID : 6306801449643

Status : Not Answered
Chosen Option : --

Q.19 Which of the following forms an asset for a bank?
I. Reserves
II. Loans

Ans 1. Only II

2. Only I

3. Neither I nor II

4. Both I and II

Question ID : 630680372088
Option 1 ID : 6306801449652
Option 2 ID : 6306801449651
Option 3 ID : 6306801449654
Option 4 ID : 6306801449653

Status : Answered
Chosen Option : 1

 



Q.20 As of June 2022, which of the following languages has been given status of classical
languages in India?

Ans 1. Odia

2. Gujarati

3. Manipuri

4. Bengali

Question ID : 630680372098
Option 1 ID : 6306801449693
Option 2 ID : 6306801449692
Option 3 ID : 6306801449694
Option 4 ID : 6306801449691

Status : Answered
Chosen Option : 3

Q.21 Amoeba acquires its food through the process of _______.
Ans 1. exocytosis

2. diffusion

3. endocytosis

4. photosynthesis

Question ID : 630680372107
Option 1 ID : 6306801449728
Option 2 ID : 6306801449730
Option 3 ID : 6306801449727
Option 4 ID : 6306801449729

Status : Answered
Chosen Option : 1

Q.22 As per Census 2011, which among the following states has male-female sex ratio
above 950?
I. Karnataka
II. Meghalaya

Ans 1. Neither I nor II

2. Only II

3. Only I

4. Both I and II

Question ID : 630680372106
Option 1 ID : 6306801449726
Option 2 ID : 6306801449724
Option 3 ID : 6306801449723
Option 4 ID : 6306801449725

Status : Answered
Chosen Option : 4

 
           



Q.23 Who is the author of the novel 'Shadow from Ladakh'?
Ans 1. Mulk Raj Anand

2. Bhabani Bhattacharya

3. Anita Desai

4. R.K. Narayan

Question ID : 630680372097
Option 1 ID : 6306801449688
Option 2 ID : 6306801449690
Option 3 ID : 6306801449687
Option 4 ID : 6306801449689

Status : Not Answered
Chosen Option : --

Q.24 Ghiyasuddin Balban ruled in India in which of the following period?
Ans 1. 1296–1316

2. 1210–1236

3. 1290–1296

4. 1266–1287

Question ID : 630680372093
Option 1 ID : 6306801449674
Option 2 ID : 6306801449671
Option 3 ID : 6306801449673
Option 4 ID : 6306801449672

Status : Answered
Chosen Option : 2

Q.25 Which among the following is a saltwater lake?
Ans 1. Barapani lake

2. Sambhar lake

3. Loktak lake

4. Bhimtal lake

Question ID : 630680372102
Option 1 ID : 6306801449710
Option 2 ID : 6306801449707
Option 3 ID : 6306801449708
Option 4 ID : 6306801449709

Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude (Basic Arithmetic Skill)

 
   



Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372145
Option 1 ID : 6306801449882
Option 2 ID : 6306801449879
Option 3 ID : 6306801449881
Option 4 ID : 6306801449880

Status : Answered
Chosen Option : 3

Q.2

Ans
1. 

2. 

3. 

4. 

Question ID : 630680372144
Option 1 ID : 6306801449875
Option 2 ID : 6306801449877
Option 3 ID : 6306801449876
Option 4 ID : 6306801449878

Status : Answered
Chosen Option : 1

Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372135
Option 1 ID : 6306801449842
Option 2 ID : 6306801449839
Option 3 ID : 6306801449841
Option 4 ID : 6306801449840

Status : Not Answered
Chosen Option : --



Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372138
Option 1 ID : 6306801449853
Option 2 ID : 6306801449851
Option 3 ID : 6306801449854
Option 4 ID : 6306801449852

Status : Answered
Chosen Option : 2

Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372154
Option 1 ID : 6306801449915
Option 2 ID : 6306801449917
Option 3 ID : 6306801449916
Option 4 ID : 6306801449918

Status : Answered
Chosen Option : 4

Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372137
Option 1 ID : 6306801449849
Option 2 ID : 6306801449848
Option 3 ID : 6306801449847
Option 4 ID : 6306801449850

Status : Answered
Chosen Option : 1



Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372133
Option 1 ID : 6306801449832
Option 2 ID : 6306801449831
Option 3 ID : 6306801449833
Option 4 ID : 6306801449834

Status : Answered
Chosen Option : 1

Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372151
Option 1 ID : 6306801449903
Option 2 ID : 6306801449906
Option 3 ID : 6306801449905
Option 4 ID : 6306801449904

Status : Answered
Chosen Option : 3

Q.9 In what ratio must wheat be mixed at Rs 8 per kg to wheat at Rs 11.40 per kg so that
mixture be worth Rs 10.20 per kg?

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372136
Option 1 ID : 6306801449845
Option 2 ID : 6306801449846
Option 3 ID : 6306801449843
Option 4 ID : 6306801449844

Status : Answered
Chosen Option : 1



Q.10 Sugar worth Rs.80 per kg and Rs.50 per kg is mixed with a third variety in the ratio 1:
2:3. If the mixture is worth Rs.75 per kg, then the price of the third variety per kg will
be equal to:

Ans 1. Rs.70

2. Rs.60

3. Rs.95

4. Rs.90

Question ID : 630680372141
Option 1 ID : 6306801449866
Option 2 ID : 6306801449865
Option 3 ID : 6306801449863
Option 4 ID : 6306801449864

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.11 The surface area of a cube is 3174 cm2. Find its volume
Ans 1. 

2. 

3. 

4. 

Question ID : 630680372153
Option 1 ID : 6306801449912
Option 2 ID : 6306801449914
Option 3 ID : 6306801449913
Option 4 ID : 6306801449911

Status : Answered
Chosen Option : 4

Q.12 The cost of 2 blankets and 3 bedsheets is Rs.150. The cost of 3 blankets and 2
bedsheets is Rs.200. Find out the total cost of one blanket and one bedsheet.

Ans 1. Rs.80

2. Rs.70

3. Rs.50

4. Rs.60

Question ID : 630680372148
Option 1 ID : 6306801449892
Option 2 ID : 6306801449891
Option 3 ID : 6306801449894
Option 4 ID : 6306801449893

Status : Answered
Chosen Option : 2

 
           



Q.13 On selling a book for Rs 45, a man loses 10%. In order to gain 30%, what would be the
selling price ?

Ans 1. Rs 72

2. Rs 56

3. Rs 65

4. Rs 70

Question ID : 630680372139
Option 1 ID : 6306801449858
Option 2 ID : 6306801449856
Option 3 ID : 6306801449857
Option 4 ID : 6306801449855

Status : Answered
Chosen Option : 3

Q.14

What is the value of ?

Ans 1. 2

2. 4

3. 8

4. 1

Question ID : 630680372147
Option 1 ID : 6306801449887
Option 2 ID : 6306801449889
Option 3 ID : 6306801449890
Option 4 ID : 6306801449888

Status : Answered
Chosen Option : 1

Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372152
Option 1 ID : 6306801449909
Option 2 ID : 6306801449910
Option 3 ID : 6306801449907
Option 4 ID : 6306801449908

Status : Answered
Chosen Option : 4

 
           



Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372134
Option 1 ID : 6306801449835
Option 2 ID : 6306801449836
Option 3 ID : 6306801449838
Option 4 ID : 6306801449837

Status : Answered
Chosen Option : 1

Q.17 On a Rs 10000 payment order Raj has choice between three successive discounts of
10%, 10% and 30% and three successive discounts of 40%, 5% and 5%. By choosing
the better one, he can save :

Ans 1. Rs 255

2. Rs 200

3. Rs 400

4. Rs 430

Question ID : 630680372140
Option 1 ID : 6306801449862
Option 2 ID : 6306801449859
Option 3 ID : 6306801449860
Option 4 ID : 6306801449861

Status : Not Answered
Chosen Option : --

Q.18

Ans
1. 

2. 

3. 

4. 

Question ID : 630680372157
Option 1 ID : 6306801449927
Option 2 ID : 6306801449929
Option 3 ID : 6306801449930
Option 4 ID : 6306801449928

Status : Answered
Chosen Option : 3



Q.19 The solutions of the equation x + 3y-5 = 0 are:
Ans 1. 

2. 

3. 

4. 

Question ID : 630680372149
Option 1 ID : 6306801449895
Option 2 ID : 6306801449896
Option 3 ID : 6306801449898
Option 4 ID : 6306801449897

Status : Answered
Chosen Option : 2

Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372150
Option 1 ID : 6306801449902
Option 2 ID : 6306801449901
Option 3 ID : 6306801449899
Option 4 ID : 6306801449900

Status : Answered
Chosen Option : 3

Q.21 If 0.6 × F = 0.09 × G, then F: G =?
Ans 1. 

2. 

3. 

4. 

Question ID : 630680372142
Option 1 ID : 6306801449869
Option 2 ID : 6306801449868
Option 3 ID : 6306801449870
Option 4 ID : 6306801449867

Status : Answered
Chosen Option : 3

 



Q.22 The difference between simple interest and compound on ₹ 800 for one year at 6% per
annum reckoned half-yearly is:

Ans 1. ₹0.72

2. ₹70

3. ₹72

4. ₹7.2

Question ID : 630680372143
Option 1 ID : 6306801449871
Option 2 ID : 6306801449874
Option 3 ID : 6306801449873
Option 4 ID : 6306801449872

Status : Answered
Chosen Option : 1

Q.23

What is the value of ?

Ans 1. 0.9

2. 8.1

3. 81

4. 9

Question ID : 630680372146
Option 1 ID : 6306801449884
Option 2 ID : 6306801449886
Option 3 ID : 6306801449883
Option 4 ID : 6306801449885

Status : Not Answered
Chosen Option : --

Q.24

Ans
1. 

2. 

3. 

4. 

Question ID : 630680372156
Option 1 ID : 6306801449926
Option 2 ID : 6306801449925
Option 3 ID : 6306801449923
Option 4 ID : 6306801449924

Status : Answered
Chosen Option : 3

 
           



Q.25

Ans 1. 

2. 

3. 

4. 

Question ID : 630680372155
Option 1 ID : 6306801449921
Option 2 ID : 6306801449922
Option 3 ID : 6306801449919
Option 4 ID : 6306801449920

Status : Answered
Chosen Option : 1

Q.1 The job, which entails _____textual input to effectively communicate with large
language models, has been hailed by World Economic Forum as the number one “job
of the future” .

Ans 1. optimizing

2. Pledging

3. distracting

4. accessibility

Question ID : 630680372070
Option 1 ID : 6306801449581
Option 2 ID : 6306801449579
Option 3 ID : 6306801449582
Option 4 ID : 6306801449580

Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate option to complete the following sentence.
When I was a child, I__bite my nails.

Ans 1. used to

2. did

3. Went on

4. Use to

Question ID : 630680372073
Option 1 ID : 6306801449594
Option 2 ID : 6306801449592
Option 3 ID : 6306801449593
Option 4 ID : 6306801449591

Status : Answered
Chosen Option : 1

Section : English Language (Basic Knowledge)



Q.3 Choose the most appropriate meaning of the below mentioned word:
Prioritize

Ans 1. Forget

2. Disperse

3. Disorder

4. Organize

Question ID : 630680372077
Option 1 ID : 6306801449609
Option 2 ID : 6306801449610
Option 3 ID : 6306801449608
Option 4 ID : 6306801449607

Status : Answered
Chosen Option : 3

Q.4 Greg likes to throw _______ racket into the air when he wins a point.

Ans 1. his

2. their

3. through

4. mine

Question ID : 630680372069
Option 1 ID : 6306801449577
Option 2 ID : 6306801449575
Option 3 ID : 6306801449576
Option 4 ID : 6306801449578

Status : Answered
Chosen Option : 1

Q.5 Parts of the following sentence have been given as option that contains an error in
spelling. If you don’t find any error, mark “No error” as your answer.

It is clear that organizing consistent and holistic thrift campaigns is a powerful shield
to unraval the issue of rising commodity prices.

Ans 1. organizing

2. No error

3. thrift

4. unraval

Question ID : 630680372079
Option 1 ID : 6306801449615
Option 2 ID : 6306801449618
Option 3 ID : 6306801449616
Option 4 ID : 6306801449617

Status : Answered
Chosen Option : 3

 
        



Q.6 Choose the answer below that spells the word in bold correctly:

John, Leo, and Lucas all went to a restarant together to have a nice dinner.
Ans 1. Resteraunt

2. Restaurant

3. Restaraunt

4. Restarrant

Question ID : 630680372080
Option 1 ID : 6306801449621
Option 2 ID : 6306801449619
Option 3 ID : 6306801449622
Option 4 ID : 6306801449620

Status : Answered
Chosen Option : 2

Q.7 _______ the day, owls would usually rest in their nests.
Ans 1. Also

2. During

3. While

4. At

Question ID : 630680372071
Option 1 ID : 6306801449586
Option 2 ID : 6306801449585
Option 3 ID : 6306801449583
Option 4 ID : 6306801449584

Status : Answered
Chosen Option : 2

Q.8 Choose the most logical order of the sentences from among the four given choices to
construct a coherent paragraph.

"A Western psychologist once revealed that there is no problem that cannot be solved,
while life without problems is empty."

A) Based on this manifestation, the authorities should always make monitoring and
take firm action against anyone who arbitrarily raises prices without obtaining
approval from the relevant authorities.
B) These words are indeed true and all citizens in this country must be grounded in
reality because every problem we face must have a comprehensive method and
approach.
C) Meanwhile, the government should also fulfill their responsibility to draft, codify,
and strengthen laws seriously and transparently so as to give warnings to traders.
D) Relevant government officials should also play an important role in conducting
surprise inspections of business premises from time to time to ensure that traders
comply with the established regulations and do not practice any unauthorized
activities.

Ans 1. ABCD

2. BCDA

3. BADC

4. DACB

Question ID : 630680372067
Option 1 ID : 6306801449569
Option 2 ID : 6306801449567
Option 3 ID : 6306801449570
Option 4 ID : 6306801449568

Status : Not Attempted and
Marked For Review

Chosen Option : --

 
  
       



Q.9 Select the most appropriate option to complete the following sentence.
We went to a nice restaurant today. I ___spaghetti for lunch.

Ans 1. Have been eating

2. Did eat

3. eaten

4. ate

Question ID : 630680372074
Option 1 ID : 6306801449595
Option 2 ID : 6306801449598
Option 3 ID : 6306801449597
Option 4 ID : 6306801449596

Status : Answered
Chosen Option : 4

Q.10 Choose the most appropriate one-word substitution for “A person who is hard to
please”

Ans 1. Not friendly

2. Fastidious

3. People Pleaser

4. Ferocious

Question ID : 630680372062
Option 1 ID : 6306801449550
Option 2 ID : 6306801449548
Option 3 ID : 6306801449549
Option 4 ID : 6306801449547

Status : Answered
Chosen Option : 4

Q.11 Choose the most appropriate meaning of the below mentioned word:
Holistic

Ans 1. Partial

2. Comprehensive

3. Limited

4. Restricted

Question ID : 630680372078
Option 1 ID : 6306801449611
Option 2 ID : 6306801449612
Option 3 ID : 6306801449613
Option 4 ID : 6306801449614

Status : Answered
Chosen Option : 2

 
        



Q.12 Choose the most appropriate one-word substitution for “Persons who abstain from
alcoholic drinks”

Ans 1. Teetotalers

2. Ascetics

3. Celibates

4. Immature

Question ID : 630680372063
Option 1 ID : 6306801449551
Option 2 ID : 6306801449552
Option 3 ID : 6306801449554
Option 4 ID : 6306801449553

Status : Answered
Chosen Option : 1

Q.13 Choose the most appropriate meaning of the below quoted idiom
“Give someone the benefit of the doubt“

Ans 1. Trust what someone says

2. Having trust issues with someone

3. Be doubtful about someone’s intentions

4. Never trust someone at all

Question ID : 630680372076
Option 1 ID : 6306801449606
Option 2 ID : 6306801449605
Option 3 ID : 6306801449604
Option 4 ID : 6306801449603

Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate option to complete the following sentence.
I had never expected to get the job. I was really ___when I was offered it.

Ans 1. amazed

2. interesting

3. amazing

4. satisfies

Question ID : 630680372072
Option 1 ID : 6306801449589
Option 2 ID : 6306801449590
Option 3 ID : 6306801449587
Option 4 ID : 6306801449588

Status : Answered
Chosen Option : 1

Q.15 It was a windy day. John and I decided that it was the perfect day _______ kites.
Ans 1. for

2. To fly

3. flying

4. is flying

Question ID : 630680372068
Option 1 ID : 6306801449571
Option 2 ID : 6306801449572
Option 3 ID : 6306801449573
Option 4 ID : 6306801449574

Status : Answered
Chosen Option : 2

 
           



Q.16 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
After finishing high school, I plan to pursuing law.

Ans 1. Plan to pursue

2. Plan in pursue

3. Plan at pursuing

4. No substitution required

Question ID : 630680372064
Option 1 ID : 6306801449556
Option 2 ID : 6306801449557
Option 3 ID : 6306801449558
Option 4 ID : 6306801449555

Status : Answered
Chosen Option : 1

Q.17 Choose the most logical order of the sentences from among the four given choices to
construct a coherent paragraph.

In this era of globalization, society seems to be too busy chasing worldly luxuries and
often neglects healthy lifestyle practices, especially recreational activities.

A) It is clear that recreational activities can strengthen relationships between
individuals.
B) One of the benefits of recreation to society is the ability to strengthen relationships,
whether with the local community or with one's own family members.
C) This is because they take the importance of recreational activities lightly.
D) This is because through recreational activities, individuals will interact with others
around them, thus strengthening relationships.

Ans 1. CDAB

2. ABCD

3. CBDA

4. BADC

Question ID : 630680372066
Option 1 ID : 6306801449564
Option 2 ID : 6306801449563
Option 3 ID : 6306801449565
Option 4 ID : 6306801449566

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.18 Choose the correct answer from below options that suits the below mentioned
question:
She__ how to speak Spanish.

Ans 1. knew

2. new

3. now

4. know

Question ID : 630680372082
Option 1 ID : 6306801449629
Option 2 ID : 6306801449627
Option 3 ID : 6306801449630
Option 4 ID : 6306801449628

Status : Answered
Chosen Option : 1

 
           



Q.19 Choose the correct answer from below options that suits the below mentioned
question:
Her shoes are ___ small.

Ans 1. two

2. twoo

3. too

4. to

Question ID : 630680372081
Option 1 ID : 6306801449624
Option 2 ID : 6306801449625
Option 3 ID : 6306801449626
Option 4 ID : 6306801449623

Status : Answered
Chosen Option : 3

Q.20 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
Our guests arrived; they are sitting in the garden.

Ans 1. Have arrived

2. Might arrive

3. Shall arrive

4. Are arriving

Question ID : 630680372065
Option 1 ID : 6306801449561
Option 2 ID : 6306801449562
Option 3 ID : 6306801449559
Option 4 ID : 6306801449560

Status : Answered
Chosen Option : 1

Q.21 Choose the most appropriate meaning of the below quoted idiom
“Better late than never”

Ans 1. Better to arrive late always

2. Better to arrive late than not to come at all

3. Always be on time

4. Better to not go at all

Question ID : 630680372075
Option 1 ID : 6306801449599
Option 2 ID : 6306801449600
Option 3 ID : 6306801449602
Option 4 ID : 6306801449601

Status : Answered
Chosen Option : 2

 
        



Comprehension:
Read the following passage and answer the given questions
Man has come a long way since his arrival on this planet, adapting and using his intelligence
to prosper and increase in numbers. Today, he is the dominant species on Earth, thanks in
part to his curiosity and exploratory urge. While much of the Earth has been explored, Man's
thirst for knowledge and discovery has led him to look towards the expanse above his head -
the skies above, or what is commonly referred to as space.
The allure of space has always challenged Man's curiosity, as it offers the possibility of
discovering new planets and unknown worlds and solving problems such as the increasing
population. The Cold War between America and Russia in the 1960s was not just a race for
military supremacy, but also a race for national pride, as each nation aimed to be the first to
land a man on the Moon. The Apollo mission, which successfully landed the first man on the
Moon in 1969, marked a sweet victory for the Americans. However, financial constraints have
led to a drop in space travel for strategic and scientific purposes.
Despite this setback, space continues to hold much promise for Man. Recent planetary
probes and cameras have found evidence of water on Mars, raising hopes of the existence of
life there. Space stations and the possibility of long-term habitation in space offer the potential
for Man to live and work in space, especially as more areas on Earth become uninhabitable
due to pollution and desertification.
Telecommunications, military, and weather satellites provide enormous benefits to nations,
while space laboratories may yield important scientific discoveries. Additionally, the possibility
of finding aliens in space remains the ultimate dream of many scientists.
In conclusion, Man has almost fully explored his planet, and space remains the final frontier
for him to explore. With endless possibilities and the potential for groundbreaking discoveries,
the exploration of space is undoubtedly the most exciting endeavor that Man can undertake in
the 21st century
Refer the above passage and answer the Questions

SubQuestion No : 22
Q.22 Identify the suitable title for the passage
Ans 1. Man Vs Space

2. The exploration of Earth

3. The Final Frontier: Exploring the Boundless Possibilities of Space

4. The Space and its challenges

Question ID : 630680372059
Option 1 ID : 6306801449536
Option 2 ID : 6306801449537
Option 3 ID : 6306801449538
Option 4 ID : 6306801449535

Status : Not Answered
Chosen Option : --

 

 

   



Comprehension:
Read the following passage and answer the given questions
Man has come a long way since his arrival on this planet, adapting and using his intelligence
to prosper and increase in numbers. Today, he is the dominant species on Earth, thanks in
part to his curiosity and exploratory urge. While much of the Earth has been explored, Man's
thirst for knowledge and discovery has led him to look towards the expanse above his head -
the skies above, or what is commonly referred to as space.
The allure of space has always challenged Man's curiosity, as it offers the possibility of
discovering new planets and unknown worlds and solving problems such as the increasing
population. The Cold War between America and Russia in the 1960s was not just a race for
military supremacy, but also a race for national pride, as each nation aimed to be the first to
land a man on the Moon. The Apollo mission, which successfully landed the first man on the
Moon in 1969, marked a sweet victory for the Americans. However, financial constraints have
led to a drop in space travel for strategic and scientific purposes.
Despite this setback, space continues to hold much promise for Man. Recent planetary
probes and cameras have found evidence of water on Mars, raising hopes of the existence of
life there. Space stations and the possibility of long-term habitation in space offer the potential
for Man to live and work in space, especially as more areas on Earth become uninhabitable
due to pollution and desertification.
Telecommunications, military, and weather satellites provide enormous benefits to nations,
while space laboratories may yield important scientific discoveries. Additionally, the possibility
of finding aliens in space remains the ultimate dream of many scientists.
In conclusion, Man has almost fully explored his planet, and space remains the final frontier
for him to explore. With endless possibilities and the potential for groundbreaking discoveries,
the exploration of space is undoubtedly the most exciting endeavor that Man can undertake in
the 21st century
Refer the above passage and answer the Questions

SubQuestion No : 23
Q.23 Identify the central theme of the passage
Ans 1. the exploration of space undoubtedly is the most exciting endeavor

2. Recent planetary probes and cameras have found evidence of water on Mars, raising
hopes of the existence of life in space

3. space continues to hold much promise for Man

4. The Cold War between America and Russia in the 1960s was not just a race for
military supremacy, but also a race for national pride, as each nation aimed to be the first to
land a man on the Moon.

Question ID : 630680372058
Option 1 ID : 6306801449531
Option 2 ID : 6306801449533
Option 3 ID : 6306801449532
Option 4 ID : 6306801449534

Status : Not Answered
Chosen Option : --

 

 

   



Comprehension:
Read the following passage and answer the given questions
Man has come a long way since his arrival on this planet, adapting and using his intelligence
to prosper and increase in numbers. Today, he is the dominant species on Earth, thanks in
part to his curiosity and exploratory urge. While much of the Earth has been explored, Man's
thirst for knowledge and discovery has led him to look towards the expanse above his head -
the skies above, or what is commonly referred to as space.
The allure of space has always challenged Man's curiosity, as it offers the possibility of
discovering new planets and unknown worlds and solving problems such as the increasing
population. The Cold War between America and Russia in the 1960s was not just a race for
military supremacy, but also a race for national pride, as each nation aimed to be the first to
land a man on the Moon. The Apollo mission, which successfully landed the first man on the
Moon in 1969, marked a sweet victory for the Americans. However, financial constraints have
led to a drop in space travel for strategic and scientific purposes.
Despite this setback, space continues to hold much promise for Man. Recent planetary
probes and cameras have found evidence of water on Mars, raising hopes of the existence of
life there. Space stations and the possibility of long-term habitation in space offer the potential
for Man to live and work in space, especially as more areas on Earth become uninhabitable
due to pollution and desertification.
Telecommunications, military, and weather satellites provide enormous benefits to nations,
while space laboratories may yield important scientific discoveries. Additionally, the possibility
of finding aliens in space remains the ultimate dream of many scientists.
In conclusion, Man has almost fully explored his planet, and space remains the final frontier
for him to explore. With endless possibilities and the potential for groundbreaking discoveries,
the exploration of space is undoubtedly the most exciting endeavor that Man can undertake in
the 21st century
Refer the above passage and answer the Questions

SubQuestion No : 24
Q.24 What is the meaning of “Enormous ”?
Ans 1. Huge

2. less

3. Micro

4. small

Question ID : 630680372060
Option 1 ID : 6306801449539
Option 2 ID : 6306801449540
Option 3 ID : 6306801449542
Option 4 ID : 6306801449541

Status : Answered
Chosen Option : 1

 

 

   



Comprehension:
Read the following passage and answer the given questions
Man has come a long way since his arrival on this planet, adapting and using his intelligence
to prosper and increase in numbers. Today, he is the dominant species on Earth, thanks in
part to his curiosity and exploratory urge. While much of the Earth has been explored, Man's
thirst for knowledge and discovery has led him to look towards the expanse above his head -
the skies above, or what is commonly referred to as space.
The allure of space has always challenged Man's curiosity, as it offers the possibility of
discovering new planets and unknown worlds and solving problems such as the increasing
population. The Cold War between America and Russia in the 1960s was not just a race for
military supremacy, but also a race for national pride, as each nation aimed to be the first to
land a man on the Moon. The Apollo mission, which successfully landed the first man on the
Moon in 1969, marked a sweet victory for the Americans. However, financial constraints have
led to a drop in space travel for strategic and scientific purposes.
Despite this setback, space continues to hold much promise for Man. Recent planetary
probes and cameras have found evidence of water on Mars, raising hopes of the existence of
life there. Space stations and the possibility of long-term habitation in space offer the potential
for Man to live and work in space, especially as more areas on Earth become uninhabitable
due to pollution and desertification.
Telecommunications, military, and weather satellites provide enormous benefits to nations,
while space laboratories may yield important scientific discoveries. Additionally, the possibility
of finding aliens in space remains the ultimate dream of many scientists.
In conclusion, Man has almost fully explored his planet, and space remains the final frontier
for him to explore. With endless possibilities and the potential for groundbreaking discoveries,
the exploration of space is undoubtedly the most exciting endeavor that Man can undertake in
the 21st century
Refer the above passage and answer the Questions

SubQuestion No : 25
Q.25 Identify the inferences drawn from the passage
Ans 1. Space stations and the possibility of long-term habitation in space offer the potential

for Man to live and work in space

2. the exploration of space is undoubtedly the most exciting endeavor that Man can
undertake in the 21st century

3. Human being has seen it all and now no more discoveries are left

4. the possibility of finding aliens in space remains the ultimate dream of many
scientists.

Question ID : 630680372061
Option 1 ID : 6306801449545
Option 2 ID : 6306801449546
Option 3 ID : 6306801449543
Option 4 ID : 6306801449544

Status : Not Answered
Chosen Option : --
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